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GENERAL CHEMISTRY 
1. n = 5 rFkk m1 =  +  2  ds vkfcZVyksa dh la[;k gS 

______ ¼fudVre iw.kk±d esa½ 

2. ijek.kq Øekad 25 ds f}la;ksth /kkrq vk;u dk] 

mlds  tyh;  foy;u  esa  dsoy  pØ.k  pqEcdh;  

vk?kw.kZ dk eku (BM) D;k gS\ 

 (1) 5.92  (2) 5.0 

 (3) 'kwU;  (4) 5.26 

3. ijekf.od Fe(Z = 26) dh  fuEure  voLFkk  esa  

dsoy pØ.k pqEcdh; vk?kw.kZ gS ______× 10–1 

BMA (fudVre iw.kk±d esa) 

 [fn;k gS : 3  = 1.73, 2  = 1.41] 
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SOLUTION 

1. Official Ans. by NTA (3) 

Sol. For, n = 5 

 l = (0, 1, 2, 3, 4) 

 If l = 0, m = 0 

 l = 1, m = {–1, 0, +1} 

 l = 2, m = {–2, –1, 0, +1, +2} 

 l = 3, m = {–3, –2, –1, 0, +1, +2, +3} 

 l = 4, m = {–4, –3, –2, –1, 0, +1, +2, +3, +4} 

 5d, 5f and 5g subshell contain one-one orbital 

having m
l
 = +2 

2. Official Ans. by NTA (1) 
Sol. Electronic configuration of divalent metal ion 

having atomic number 25 is 

Mn+2
(aq) Þ  

 Total number of unpaired electrons = 5 

 m (Magnetic moment) = n(n 2) BM+  

 where n = number of unpaired e– 

 \ 5(5 2)m = +  = 35 BM  = 5.92 BM 

3. Official Ans. by NTA (49) 
Sol. Fe ® [Ar] 4s23d6  

 

 Number of unpaired e– = 4 

 4(4 2) B.M.m = +  

 24 B.M.m =  

 m = 4.89 B.M. 

 m = 48.9 × 10–1 B.M. 

 Nearest integer value will be 49. 


